=

2\\

MIAMI-DADE ' MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAM]I, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Alumiglass, Inc.
901 NW 35" Street, Suite 100
Boca Raton, FL 33431

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Aluminum Structural Glazed Curtain Wall System -SMI

APPROVAL DOCUMENT: Drawing No. 05-ALU-0038 titled “Alumiwall Impact System (SMI)”, sheets 1
through 8 of 8 dated 08/30/02 and last revised on 02/13/08, prepared by Engineering Express, signed and sealed by
Frank L. Bennardo, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews # 02-0308.02 and consists of this page 1and evidence sheet E1, as well as approval

document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P. E.

NOA No 07-0625.13

- Expiration Date: September 19, 2012
u 'UNTY ‘ Approval Date: March 06, 2008

Page 1

c\?



Alumiglass, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (transferred from file # 02-0308.02)
1. Manufacturer's die drawings and sections.
2. Drawing No. 05-ALU-0058 titled “Alumiwall Impact System (SMI)”, sheets 1
through 8 of 8 dated 08/30/02 and last revised on 02/13/08, prepared by
Engineering Express, signed and sealed by Frank L. Bennardo, P. E.

B. TESTS (Test reports transferred from file # 02-0308.02) original test report conducted per

SFBC, PA 201, 202 & 203-94, now termed as FBC, TAS 201, 202 & 203-94.
1. Test report on 1) Air Infiltration Test, per PA 202-94

2) Uniform Static Air Pressure Test, Loading per PA 202-94

3) Water Resistance Test, per PA 202-94

4) Small Missile Impact Test, SFBC PA 201-94

5) Large Missile Impact Test, SFBC PA 201-94

6) Cyclic Loading Test, per SFBC PA 203-94
along with installation diagram of an aluminum curtain wall system prepared by
Hurricane Test Laboratory, Inc. Test Report No(s) : HTL-0237-0708-00 dated 08/01/00,
HTL-0046-0702-00 dated 2/16-19/01, HTL-0237-0312-01, dated 3/09/01 and HTL-
0237-0704-01, dated 7/5-9/01, all signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS
1. Anchor Calculations & structural analysis, dated 10/16/07 and last revised on 01-16-
08, prepared by Engineering Express, signed & sealed by Frank L. Bennardo, P. E.
2. Glazing complies w/ ASTME-1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex IIIG
Clear or colored interlayer”, expiring on 05/21/2011.

F. STATEMENTS
1. Statement letter of conformance and “No financial interest”, dated Sep. 14, 2005,
issued by Frank L. Bennardo, P.E. consulting Engineers, signed & sealed by Frank L.
Bennardo, P.E.
2. Statement letter of compliance by the Hurricane Testing labs, part of above
referenced test reports.

F. OTHER
1. This NOA revises & renews # 02-0308.02, expired on September 19, 2007

\ét\ﬂﬁ \ thuée_

Ishaq L. Chanda, P. E.

Product Control Examiner

NOA No 07-0625.13

Expiration Date: September 19, 2012
Approval Date: March 06, 2008



F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0058 AlumiWall 6000, SMI (NOANO5-ALU-0058_02a AlumiWall 6000, SMI (NOA).dwg

rbartiett

02/13/2008 - 2:14pm

METRO DADE COUNTY PRODUCT
CONTROL CERTIFICATION DRAWINGS FOR

ALUMIWALL SMALL MISSILE
MPACT SYSTEM

GENERAL NOTES:

ARCHITECTURAL ALUMINUM:  6063-~T5 ALLOY, U.O.N.

ALUMINUM FRAMING DETAILS ARE DESIGNED IN ACCORDANCE WITH THE 2004 FLORIDA BUILDING CODE.
AND 2006 SUPPLEMENTS.

CURTAINWALL FRAMING:  ALUMIWALL 2 1/2” X 67 STRUCTURAL GLAZED SYSTEM
WITH 9/16" GLAZING AS MANUFACTURED BY ALUMIGLASS

SAFLEX BY SOLUTIA, INC.

GLASS : 9/16 TOTAL THICKNESS
9/18" HEAT STRENGTHENED LAMINATED:

1/47 HEAT STRENGTENED GLASS +
0.060 SOLUTIA SAFLEX PVB INTERLAYER +

1/47 HEAT STRENGTENED GLASS
NO 33—1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS
SYSTEM. WIND LOAD DURATION FACTOR Cd=1.6 HAS BEEN USED FOR WOOD ANCHOR DESIGN.

FRAMING TESTED IN ACCORDANCE WITH CURRENT ASTM STANDARDS AND CURRENT
METRO DADE COUNTY PROTOCOLS: TAS201, TAS202, TAS203 & ASTM SPECIFICATIONS

ALUMINUM IN CONTACT WITH DISSIMILAR MATERIALS SHALL BE PROTECTED PER CODE.

FASTENERS TO BE CORROSIVE RESISTANT AS DETAILED HEREIN
AND CONFORM TO SFBC DADE COUNTY.

STRUCTURAL SILICONE TO BE DOW CORNING 983.

PRODUCT RENEWED

a3 complying with the Florid
Bulding Code .orl E]
Aeveptance Na O)- 70 2( 1 %

Expiration Date Segp 19,7512

&,\thc, V(g de

MEam} Dade'Product Coniro
Division

f;

FRANK L. BENNARDO, P.E.
# PEOD46549

L
0
w
=
<
=
L
w
<
[a]
w
2]
z
ww
e
-1

O
£
13
il
T
Z
0
p
il

N EXPRESS®
160 SW 12th AVENUE, #106
WWW.ENGEXP.COM
CERT OF AUTH #9885

DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443

901 N.W. 35th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300° Fax: (561) 750-8711

LUMIGLASS,INC.

¥

ALUMIWALL IMPACT SYSTEM (SMI)

10/10/07|
FLB ]08/30/02
FLB 109/10/02

AML |FLB |09/15/05
09/13/07
12/14/07

CL

DRWN|CHKD | DATE
JEM |[CL

MEH |[CL

KL

5-BCCO COMMENTS
6 - BCCO COMMENTS

2 - CODE COMPLIANCE -

REMARKS
ALT JAMB/HEAD
3 - MISC.

4 - 2004 FBC

05-ALU-0058

PAGE SCALE:
DESCRIPTION:

il




————

FRANK L. BENNARDO, P.E.
# PE0046549

—

EXTRUSIONS | s imbkaos
ALL EXTRUSIONS ALUMINUM ALLOY 6063—T5, U.O.N. E LE \/A T} O N 2

(

F:\01 Project Files\Alumiglass (ALUN2005 Jobs\05-ALU-0058 AlumiWall 6000, SMI (NOANO5-ALU-0058_02a Alumiwall 6000, SMi (NOA).dwg

rbartlett

02/13/2008 - 3:07pm

. , 25" EXTERIOR VIEW, SCALE 1/4" = 1 - 180-7/8° - )
1.25 | 86?1) ~ |—.‘ _-| ! 2'5"—M3 @ 3 o5 PRS(])?:IELE ) [D
X= . N : z _ "
Sxxx=‘l.45 in"4 . I, 1 1(4 4! || L © Z 3 § E
L 075" WALL THK. 375 — S [ | 0 < = 5 t=e 1233
’ I S1213 AS HEAD 1 N l oS
| WALL THICKNESS = 094 l 5683 T | | @ @ ;::\ < H-.JUJ R s
60" | CAP | | CLIP 2HNlezs S
T | / T ANCHOR &LLI'J.l L3 Ve
EXPOSED SURFACE l | | / : | L ZD: z ; o 3
4751 N0 ol —] SUO2R W E
MALE INTERMED MULL 15 5 |WALL THICKNESS = 094 ‘ ~e | | L O0Q «g" 02
| . , ! ! i FZX|528 0}
125" S67/8 93-11/16 // | S1213 AS JMWB ) Z NO® o &
[ L Jp @ : | Bl Swllj-Z3 § ]
= in® ™
';:X=f5%9 ir'}“A:' L $1213 A9 JAMB | I N N 2 ‘% TIPS
WALL mICKh;Ezf = .09 ‘ EXPOSED SURFACE | | @ r/!; JoRE
| ' S1213 0 | | . LL
EXPOSED SURFACE - | | - Ly  BREAK —
e | S SESIES EE y” BEAM HERE
FEMALE INTERMED MULL HEAD / SILL / JAMB L : / : =
—
T 40-11/16 ' / | / T E
715 L | ya | Z
195" 1 625 ) / | S678—S715 | @ 4 TYP, & \U_),
2 -1/8 EXPANSION : 8
L e 669 i ek s | /HORIZ. MULL | o EPL'CE t_ s
Sxx 2.22 in"4 I Lo K 5‘55){' = i £ i — - . 5 E
—‘_ WALL THICKNESS = .094 ‘ 60 - E | / | Q @ LZ) gg Q
6.0" =1 HEAD / SILL / JAMB 1 s I ® i / - =l in
EXPOSED SURFACE ALTERNATE FOR $1213 / ' | 8 38
HORIZONTAL EXPANSION MULL 1 | 6845678 | 3 2 §E L—)
' 5.375" ! EXPOSED SURFACE HLZ'_ | /HORZ. MuLL ! @ L = llzs E
188" TYP. l = e =y e e T H s = o §§ &
WALL 'ICKNESS = g =3
o7 74 In”% f e F_éj D sega-se78 : S684-S678 B g % g :
Sx=2.861 in"4 N MAX . Il VerT. muLL VERT. MULL T > z S
[ T 225 WALL THICKNESS = .062 148 / ls687 7 BEAM | %GS?SE"' BEAM B : | g
. INSIDE 3
5687 ] S1214 - | | p : =
MULL REINF. (6061-T6 ALUM.) FILL FOR HEAD/SILL e | / 1 / T T \W\T’\ %
ALUMINUM ALLOY 6063-T5 e ! | -
(2) #12 X 1”7 SMS TO JAMB ANGHORS . | ] | <
SPLINE GROOVE, (4) TO soe ] 57-3/8 , 57-7/8 i 57-3/4 L
HORIZ. MULL SPLINE GROOVE ‘ N | | TR
SHEET w ta1k=11=]
7 | | HEEEEER
YA H D A1)SM. 4392:25
%\ | ”4L4-,, Q | $1213 AS SLL I O O o KN :"8888“
AR — I . \ I .
~ i ] I el cup G e
% \ 2-1/2" ] fs 2-1/2" o] | b’ ANCHOR F3
2.5" 3 3 2.5 2= 2[z
~ N MAX 60 3/8" 88 25|
' MULLION SPACING
N - SEE DETAL — w
ISOMETRIC CLIP g glo
N SHEET 4 PRODUCT RENEWED alg| | |2
N SMALL MISSILE GLAZING: ﬁgﬁ%‘:}:"“" the Florida 258 238
N‘ : (ABOVE 30") Acveptance No>?-062)" ) 3 HE 8 % 8818
- %s" LAMINATED: Expirution Pate SE£77 zo12 |#|9)3]0cld]s
N %" HEAT STRENGTHENED v 16 tea Vo Lewd o
| 0.060" SOLUTIA SAFLEX PVB Miami Dade brodnet Conirs 05-ALU-0058
%" HEAT STRENGTHENED Division e
\L DESCRIPTION:
IMPACT
ISOMETRIC FOR LARGE MISSILE DESIGN PRESSURE RATING
SEE SEPARATE NOA
VIEW +90PSF, —90PSF 9

2

\




F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0058 AlumiWall 6000, SMI (NOANOS-ALU-0058_02a AlumiWall 6000, SMi (NOA).dwg

rbartiett

02/13/2008 - 2:14pm

VERTICAL SECTIONS

1/2 SCALE

le—————MIN E.D.=4"——=]
BACKER K
Z|max ROD CLIP ANCHOR
// ,/ /QjE ISOMETRIC DETAIL)
Ji
! _ z 7 LZ/
K g ! 1l %" MAX.SHIM
SR _S1218 L 78
ngkl - 11l sPAcE
. R |
17 MIN. PN | ~DOW CORNING
BITE Il [\ 983 CONTINUOUS ~ THh->1214
<111\ SILICONE SEALANT | if o
I =
ac |11 “E4510 SILICONE |||
S |11 GASKET =
ool =
S \ CLIP ANCHOR
” N (&” MAX 1 IN__(SEE ISOMETRIC
I :::::::::1::::::::::::3| DETAIL)
I [
| ||
i X
EXTERIOR [} | | INTERIOR N
il N .
”1 i X S687 "I BEAM
[ [
[ [

—\,

w
m
i

£E4510

983 CO

SILICONE

GASKET

DOW CORNING

NTINUOUS

SILICONE SEALANT

I 1
I
I
I
L
o
[
i
b
[
|1

S67/8
S67/8

()
& S715

EXPANSION MULLION
(S684—S678 HORIZ

|

77 X 5" X 1/4” X 5” DEEP
ALUM. ANGLE EA SIDE W/

y/
Vi MULLION SIMILAR) (2) 5/8” THRUBOLTS THRU
DOW CORNING /[ VERT MULL & ANCHOR PER
795 SILICONE H \_8715 1) TABLE ON SHEET 7
T |
T | [T \sacker rop ¥ ;
. ‘ ..ll[ _H 14 : : I I VAN S MAX‘ .
= ”
Y I [ 5/8 THRY Bz -
M1 BOLTS W/ NUTH ] - —
l LT & WASHER A ]
[N \ NN — 1
(111 5 1] E —
i [ &
ce P / e -
= |1 |11 ANGLE SUPPORT S =
o |l | L (AT IDSPAN SLAB) |
>< [ 1| = ” ”
iy S687 1|=Z 4 HS / 0.060"PVB
AL |—BEAM 1|~ /HS SMI GLAZING
. (I
I _"//H S684-5678
“‘ , N MULLION
M |
N PRODUCT RENEWED
s complying with the Fiorida
Kxg;tinizdls o) 2
Expiration m:?zm(f-{é ,r { z
Divk Conti'

FRANK L. BENNARDO, P.E,
# PE0046549

102 8

'8
(¢}
w
[
<
=
'8
'8
<
[a]
w
[}
P4
w
Q
-

O
Z
C
m
m
Z
O
Z

EXPRESS®
160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW.ENGEXP.COM
CERT OF AUTH #9885

PH: (954) 354-0660 Fax: (954) 354-0443

901 N.W. 35th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300 Fax: (561) 750-8711

UMIGLASS,INC.

£

ALUMIWALL IMPACT SYSTEM (SMI)

MEEEERE
HEEIEIEIEE
LIz 2T iIz|g
Q33|33 |B|N
A=A l=1=1k=1hs
g

m|m|m
e ol IS e o o ST N |
OO [O|O
S P
= =
[ wi
a4 e

3]

2 2le

g | |5l
ol Sis
w|2(3 313
Ego §oo

W3 Q
HHEEEE
S|QIZISIOI0
gl Q= ae s
méwmvmg

PAGE SCALE:
DESCRIPTION:

3




lﬁ

Sl

§886# HLNV JO L¥30

WOD'dXIONIT MMM (INS) W3ALSAS 1OVdIWI TIVMIWNTY

€rP0-bSE (bS6) :Xvd  0990-bSE (¥56) Hd
ZvreE 14 ‘HOV3Ad a13Idy¥3ada

L0/vLICL 10 ™ SINIWWOD 0004 -9}

05-ALU-0058

HORIZONTAL SECTIONS @INTERMED

MULLION CONNECTIONS

1/2 SCALE

o
g
[~4
< (195) :xed ,0082-06L (19S) .
z 90T# ‘ANNIAV UIZT MS 09T . V116052 1199). 052 10/51/60] 1D HAW SLNIANOD 0098 - § .
mw x\uﬂ/ﬂﬁf LEVEE 14 ‘uojey 009 , 001 S)NG 1984S WISE "M'N 106 50/51/60 R 344 P00z~ E m
i 0SSIEHIXT Y /u . zooveo] el - ool | < Il
X0 S ONI'SSY1DO1ANT 20/0€/80] €14 -|__ JONVITdINOD 3000-2 b |
wm SNIHIINIONS \\/'/ 20/0L/0L] 10| War QvaH/anYr 1 al?
™™ 40 ALVITI44dY AaSN3I0IT 31va | IHIO|NMEa SMYWIY M _m_
= 3&
L —
0 = > o £ 3 le
m -z = ag v
Wow S8 g2 1 ’M P
I L - X i
— 0d, 2a &z I
wn bl o M =z o m.m. 9 g T
-
Qe o na_ & = m sz A
Ll N 27 @ =E2s2 o7
a o =~ L UB0ZE §
O = W a <=2 = .W B ¢
i W= 5 BEFLE s i
@ T eTa0 ©08 SESFE AR
035 S35xas WD g3 s £
055 HED HUz £z832 235
SO UEaS o i3 &
O W 02w Mn
e Y s Y o)
Oaxm g Xr_1oO O
ZE < u OSSO Z oMy
<+ N | <O
q No T
K Sy
5(
o€ X
T —t
2o ?
N e)
™~ <C

5"

=
O QT
r =
|||||||||||||||||| LI IIIT Al A A LLL) T O
IIIIIIIIIIIIIIIIIIIIIIIIIIIII —
<C
-
L]
_ 1
L]
[
O
[
|||||||||||||||||||||||||||| LIy .
llllllllllllllllll ARRRRRRY T T _V'A m
/ ) =
el
O = % QN
o m Mm
W <C
- R W
in TS
. =
O S
W
Sz
-—m
—l
8
HWB
a —
2t 2BW
— il
nET X%
W= m <
%CE o=
o . 4
Oxrm < I8
ZE < = =
<wne o - 5
N
RIS
TN ~F
== — —
H b4 N
n ™M W
= ]
T 7 - 5
N ) Ac - ?\Nj —
A 0
~ W)
i @ -
= <
c —
= =
N (AR U @W\ O
%1 N i | ™~
= N\ - o 1%
B = Ol
T M . , 1]=
= A —
s i Mm
H [IEN

Bmp{vON) 1INS ‘0009 IIEMILUNTY BZ0™ 8S00-NTv-SOYON) IS ‘0009 IIEAWNLY 8500-NTY-SO\SAOT S00Z\(1TV) SSEIDIUNI\SONY 108(0)g Lond Weeq  wdpliz - 800Z/€ 1120



“ $8B86# HLNY 4O 1930 J
ul WO dXIONI MMM o &
= Err0-bet o2 ot Dom e (INS) WILSAS 1OVAWI TIVMIWNTY Lo
= N¢¢mm~1_u_ ‘HOV349 @1314¥3aa - 20//L2L]  10] ™ SINaWW0o0008-8| | ©
mm 90T# ‘INNIAV UIZT MS MWH Levee 14 v o om_hwwmh%w..«Hﬂ%mmwﬁﬁFwwh mwmzmo 10| HAN|  SINIWWOD 0398~ § U_ 3 5
$ — P, ueo| &1d| 1w - ij
58 " SSHIXT Sy — zaoyeol sl - o] | [EE
Wm SNIHIINIDNT \\swi ONI SSVY1OINNT 20/0e/90| @14 -| _ FONVIdWOD 3009-¢2 _.T ol
8 40 SLura4y uSNaoT /' L0010 ] 0| War avawanve il |~ ole
31va | ayHo|Nma SHYVIIN ala
= a2y
QO < g N sle
— Ly RS §
L DO m S& 3|8
= /_Lul\., L W.m {d ~1
> L .n,zl el ﬁ m = mm wn -4\\
= Wou =2 2328 g
< Sy UECEE \MM
o ] O (| <€ o U.m.Mam.m (% '
I 5a. 20" i
— — L L O M\Ju — ] ~ P s m M&Arm mv
— 2 AF T~ <
x M= Z Ot
~O W O F =
— = 0o ~NZ N
1 —=
>
¥ =
O -
Tl =
~ e /)
=] : .
= \
<C o =)
= & == :
O = ae L : ”
(@]
n == ox = >
— U 4 ho
- © =
C =
O
o
S =
T Lol
) = 0 35
<C pd O
] S /N
= <275 O
- L <C o
= = YORIINI ez -
o 1 n o L
— O
TN CLICICO I TToTICIINICTo oo i RN
B e - L) T
[ Q- U (n
o8 ! . S
T O |
M 1
I N
‘_ H
[
< Y < —
il > ——
— - i \
= | IR
H
[ 2 M
O I &
N __ ~
——— L
e —— e =g 5
R U._ = === /= i == == === :!==::!== 1! == ":: M
O 5 o5 3
2 <2 I
T Lz = \
= Ol 41X T2 v
~— — _I'
- Lo
o
LG
n
L
[

——
BMP'(YON) IS ‘0009 IBMILINGY BZ0™ 8500-NTV-GOMVON) IS ‘0009 IIEAIWINIY 8500-111v-50\Sqor S002(NY) sselBiuninsalid 109lo1d 10\ ¥ejeqs  wdyl:Z - 800Z/€L/Z0




F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0058 AlumiWalil 6000, SMI {NOA)05-ALU-0058_02a AlumiWall 8000, SMI (NOA).dwg

rbartlett

02/13/2008 - 2;14pm

IYPICAL HORIZONTAL SECTION

1/2 SCALE

FOR SPACING AND ANCHOR TYPE AT JAMBS,
REFER TO ANCHOR SCHEDULE ON SHEET 8.

(OPP. SIDE SIi.)
2) #14 FHSMS AT
X = 1/4 A SH L L, EAIB)—#SPAN

51215 :
S678 684
INTERKN?‘<5>> .. <i:>

S678 S678

EXPANSION MULLION . EXPANSION MULLION

OR S715 S684-5S678 OR S715 S684—-5S678

~|  HORIZ MULLION - _| HORIZ MULLION
l)))))):)?;]—:—ssEzzEstssEfsE EEEEEVE((((—(_((' 'D_))l))ij:ﬂ:ii:W::::
= —

\ o] o OPTIONAL CAP. ADHERE
IN M
N FXTER|OR u L\;\S\ WITH SILICONE ADHESIVE

BITE BITE 5/16”><3/8” SPACER

3 TYP. GAP

FRANK L. BENNARDO, P.E.
# PE0046549

[—

02, 08

PRODUCT RENEWED

as complying with the Florida
Buiding Code

Acceptance NoO7-¢ L 2 S 173

Expiration Date S‘Eﬁ / 7 Zc/?,
Bade Product B k.

LICENSED AFFILIATE OF
7 ENGINEERING
~ N EXPRESS®
160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW.ENGEXP.COM
CERT OF AUTH #9885

PH: (954) 354-0660 Fax: (954) 354-0443

901 N.W. 35th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300" Fax: (561) 750-8711

LUMIGLASS,INC.

s

ALUMIWALL IMPACT SYSTEM (SMI)

MEEEHEEE
HAEIEIEIEIEE
gs8slslsix
218/3/8/8|8
[=]

X! 'm|m|m

] )
olola|dld|sla
4

B | [2(E
aly HEE.
8 w|n
s | gk
g | |32
[}

223! 21818
al .

3/z(8/3/z/8(8
== = Q
e e R
zéNnvu’)m
PAGE SCALE:
DESCRIPTION:

®




FRANK L. BENNARDO, P.E\

HEAD/S)LL ANCHORS @ CURTAIN WALL RIBBON APPLICATION AND o2fioes
PUNCHED—=OFPENING <VERT\CAL SECTIONS> ——1

1/2 SCALE
SACKER : ~ | EEEE

ROD SEE ANCHOR SCHED D©£ |\| % gé%;;
Y &, - :
T T Rl T = =
1" BITE 1"71 X ' !H &) E_ ﬁi

1\ \_pow CORNING I Z 2 >

e AN o R e m st <l S

A |l £4510 SILICONE % | A S Eﬁ % e

=4 N = K |

oy = 2]\ N\ = Q §

SEE ANCHOR SCHEDULE

F:\01 Project Files\Alumiglass (ALU)2005 Jobs\05-ALU-0058 AlumiWall 6000, SMi (NOAN05-ALU-0058_02a AlumiWall 6000, SMI (NOA).dwg

02/13/2008 - 2:14pm rbartlett

MEEEEEE
glgigigle|g|d
352133/
a
£ |aim|m| L]
QO || (OO
GLAZING DETAIL AR
(0 =Wl
9/16” LAMINATED: S
1/4" H.S. + 0.060" PRODUCT RENEWED 8l | |ale
SOLUTIA SAFLEX as complying with the Florida z 3
» B‘[idiﬂg Code . alg uEJ uEJ
INTERIOR (& ' PVB + 1/4” H.S. Aecepnenoc7-06y- 13 o3| | E
X (5] m|O0
& Expiration Date ol 2- |&128]4(5/8(8
gLt =/5(q|2 g12i8
= w\uft‘ﬁ\-thh\«e\* o g e e
Mismi Hade Product Contre’
EXTERIOR CORNING ‘983 GLAZE BEAD Bivision 05-ALU-0058
5/16" x 3/8" SPACER
PAGE SCALE:
,ln DESCRIPTION:
MIN \_
GLASS 1/2
BITE TYP 9

(TYP.) GAP EZ??




F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0058 Alumiwall 6000, SMi {NOA)\D5-ALU-0058_02a AlumiWall 6000, SMI (NOA).dwg

rbartiett

02/13/2008 - 3:08pm

FRANK L. BENNARDO, P.E. \

MAX 60” OC # PEQ046549
r MULLION N
SPACING N
D AN i

=
N

H > — — ] FOR |
] } | | 7 ® | J SPACING & 0
. we
- | | / e | / SMALL MISSILE GLAZING: i /N ANCHOR 57 leag
R | | | (ABOVE 30°) g ST TYPE, SEE uFe [F3%
o w ] 7 | | ® | %" LAMINATED: | 3| CHART e R
5 | Li | | | Y%’ HEAT STRENGTHENED < 40 2l BELOW A El 3P
= T | e =5 = e 0.060" SAFLEX PVB ° > AN ISFEE
= w =)
- | | I | BY SOLUTIA JAX DLO ® JUIY P
= B | <l | %" HEAT STRENGTHENED g 57172 TT BZX|SA8HE
— 3
= | y | — | i " Swf-gx s
g | @ / I |l | “’f N 55@ S
g | @ o | l _ S
3 ) o W=
N | 1 | | L e
v S | = | L= RN R
o] | / ol | / [ B, (TYP.)
e} l‘T l = | I
) DL DLO
o (el MMKDO ] J_ =| | FOR LARGE MISSILE IMPACT ~
n |9/ (R 0 | SEE SEPARATE NOA SINGLE FIXED UNITS S
TYP. ~ -
& | | | TYPICAL MAXIMUM DIMENSION | 2
| | | @ | PUNCHED OPENING APPLICATION t | <
" g
o4 DESIGN PRESSURE RATING T s | E
I N o -
TYP. CLIP - — T
I Al )5 +90PSF, —90PSF 2| @
4" 4" : : (Dn 2,55 1))
TYPICAL MAXIMUM DIMENSION RIBBON APPLICATION o [I138 b
” ] ® ﬁ
Q|5
CURTAINWALL AND RIBBON APPLICATION _g g; %
ANCHOR SCHEDULE : PUNCHED OPENING 2] =
INTERMED FLOOR SLAB =
ANCHORAT MULLION —~
CONNECTION AT: (CURTAINWALL ANCHORS WT\H\ 3
SUBSTRATE | JAMB <> HEADER/SILL CLIP APPLICATIONS ONLY) | JAMB | HEADER/SILL 3
- 7" X 5" X 1/4" X 5" DEEP ALUM. ANGLE EA . i
ELCO 1/4" x 1 3/4” EMBED TAPCON g%rz) ;}LBT’! gé?VERSJ’WEE)h(:EESOﬁWS 201L/T2!'II E;;ANBCE%OE; SIDE [SIDE W/ (2) 5/8-11 THRUBOLTS THRU VERT | [ELCO 1/4” x 1 3/4” EMBED TAPCON | ELCO 1/4" x 1 3/4" EMBED TAF’Cgfj S SSSBES
CONCRETE 4" FROM EA HORIZONTAL MULLION 21/2" & 51/2" FROM C/L OF MULLION CLIP TOTAL (4).{MULL & (4) HLT 3/8" x 3 1/2” EMBED 4" FROM EA END, BALANCE 5 1/2 4" FROM EA END, BALANCE 3 1/ HEREEEE
END, BALANCE 7 3/4” 0.C. MAXIMUM ADD HILTI 3/8” x 2 1/2" EMBED KWIK BOLT I OR KWK BOLT Il ANCHORS OR POWERS 0.C. MAXIMUM, 3" CLEAR FROM ANY 0.C. MAXIMUM, 3" CLEAR FROM ANY g g g sls 5 E
(M'N- 4000 PSI) 3" CLEAR FROM ANY CONCRETE FACE POWERS WEDGE BOLT 3/8” x 2 1/2" EMBED AT WEDGE BOLT 3/8" x 3" EMBED TO CONCRETE FACE CONCRETE FACE =[S|88|8|¢
2 1/2°& 5 1/2" FROM JAMB ENDS CONC EA. ANGLE 3 CLR FROM g
(NG CLIP AT JAMB ENDS) CONCRETE FACE. 532z2/3/g
4
" " ; = o
b 4 MBED TAPCON CONCRETE SLAB OR STEEL STRUCTURE | [ELCO 1/4" x 1 1/4" EMBED TAPCON  |ELCO 1/4" x 1 1/4" EMBED TAPCON 58252
END, BALANCE 7 3/4" 0.C. MAXIMUM CONNECTION REQUIRED 4" FROM EA END, BALANCE 5 1/2" 4" FROM EA END, BALANCE 3 1/2"
CONC BLOCK 3 CLEAR FROM ANY CONGRETE FACE N/ A 0.C. MAXIMUM, 3" CLEAR FROM ANY  |O.C. MAXIMUM, 3° CLEAR FROM ANY w
CONCRETE FACE CONCRETE FACE PROD;J{;:T RENEWED g 2@
8 complying with the Florigy |2/ | 2|2
Buiding Code olBIE| | |52
Acveptance N 0(25>] e wlsIElSle
816 RADE 5 STEEL THRUBOLTS N - E i 2/2/2/8|3/3(8
STEEL 1/4-20 SAE GRADE 5 STEEL THRUBOLT é/{ s?DE,SgE1(/;2" -y /2" FROSUC/L OF MULLION T XA X /4 X ST DEEP STEEL ANGLE ||, /4 20 SAE GRADE 2 STEEL THRUBOLT|1/4—20 SAE GRADE 2 STEEL SCREW Expiration Dute =185 g 2|8
EA SIDE W/ (2) 5/8-11 THRUBOLTS
(MIN. SUBSTRATE 4" FROM EA HORIZONTAL MULLION CLIP TOTAL (4). ADD 3/8" THRUBOLTS AT = T/ (2) T 4" FROM EA END, BALANCE 5 1/2" | 4" FROM EA END, BALANCE 3 1/2" gy IN], - ( U,( d HEJNES R A P
' ” END, BALANCE 7 3/4” O.C. MAXIMUM 2 1/2" & 5 1/2" FROM JAMB ENDS w@ﬁg %RAsgu'élf'EécL 1S/LfPP0RTL F 0.C. MAXIMUM 0.C. MAXIMUM ¥, . Guasip-
THICKNESS=1/4") (10 L' AT e 05 Dl Contro | (A -0058
n - -
PAGE SCALE:
3/4" x 7" LAG SCREW (3 1/2” THREAD EMBED DESCRIPTION:
#4 x 1 1/2" EMBED GRADE 5 WOOD El(. SIDE. 2 1/2" & 5 1(/2"/FROM C/L OF MULEION CONCRETE SLAB OR STEEL STRUCTURE #14 x 1 1/2" EMBED GRADE 2 WOOD | #14 x 1 1/2" EMBED GRADE 2 WOOD
WOOD SCREW 4" FROM EA HORIZONTAL CLIP TOTAL (4). ADD 3/4" LAG BOLTS AT CONNECTION REQUIRED SCREW 4" FROM EA END, BALANCE | SCREW 4" FROM EA END, BALANCE
MULLION END, BALANCE 7 3/4” O.C. MAX | 2 1/2° & 5 1/2" FROM JAMB ENDS 5 1/2" 0.C. MAX 31/2" 0.C. MAX
(NO CLIP AT JAMB ENDS) @




~

FRANK L. BENNARDO, P.E.

# PE0046549

$886# HLNVY 40 LY3ID @w J
) . 0
WOS'dXIDNI MMM (IWS) WALSAS 1DOVAIWI TIVMIWNTY A
£PP0-pSE ($56) X4 0990-vSE (¥56) Hd o
! 0 © SINGWN000008-9] | ©
M MW Wm an_._ Z_Mn\u/dm m__um_m_ m\m\m_ mﬂ_ MOmm_wn.__” 11.28-052 (1L95) xed ,00£2-052 (195) MQNRMM 0 Im_._<v‘_ S _.zw““zoo www.m_ s 1
- LEVEE 14 ‘Uojey B20g , O0L OHNS ‘19948 WSE "M'N LO6 S0/5L/60 a4 Y 264 700z Bl w i ANU
4 _ | [#]
-SSIHAXT S ) . aunven] g - sl | 2 3
VaY I_M ) Zowe/go| a4 - 30NVIdW00 30092 i |9z
SNIHIINISINS f'/ ONI'SSYIOINNT 200404 10| War QVaHINVT LTV % mm
: 40 31viTiddv d3asSNION 31Va | OIHO|NMYG SHUVATY ala

oz

{

/3
.

i

-
1397

$
g8e 4/ S
N u

&= .
5% @u{lm
2 ugZE g%
E£5¢s am
SDBRuwas OE g
S EERP 3mm
gSEEEi— s E
L3d<l AFE

L5 /87 max sHiu

ISOMETRIC DETAIL)
2 [SPACE
CLIP ANCHOR

N_ (SEE ISOMETRIC
DETAIL)

ﬂ JOIg3LNI

CLIP ANCHOR

//9
\
=
|
J
|
Il
A‘f]
|
|
I
!
|
|
|
|
J
|
|
|
N
b
-4
|
| |
[ ]
1

SILICONE SEALANT

|
A
|
I
.
|
o
[
(¥
F

H1/4”

I
I
ce
|
[
I
i

BACKER
ROD
INTERIOR

N1 Upow

dO143LX3

1/2 SCALE
 unepes

W

I

W

I

I

i

W

I

I

j

Yl MAX
7

ALTERNATE HEAD /SILL SECTION
~
i

EXTERIOR

—
B6mp"(VON) IS 0009 lIEMIWNTY B20 8S00-NTY-S0VVON) IS 0009 IIEAMILUNGY 8S00-NTY-SONSTOr SO0Z\(NTv) SSEIBIUNIV\Sally 10aloid Lovd nelweql  wdgl:Z - 800Z/EL/Z0



